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Attempt all questions State the assumptions

1. @

()

©

made in your answers

How many times does the CPU need to refer to
memory when 1t fetches and executes an indirect

address-mode mstruction if the instruction is :
(t) A computation requining a single operand
() A branch instruction 2

What is the function of a Control Unit in a
computer ? Explain fwo types of control

orgamzations with the help of diagrams. 244

Give fwo mstructions needed in the basic

computer in order to set the E flip-flop to 1 72
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“format with four fields - an operatian code field,
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modes, a register dildress ficld to specify one of
 sixty prosessor registers, and & memory address.

() Briefly explain the mechaniom of next address
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" ©  What is the role of condition and branch
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routine of a basic computer. The opcods was six
bits and the control memory has 4096 words.3
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Describe the following elements of bus design :
() Method of arlntration
(i) Bus width 4

An addressing field in an instruction placed at
memory address 300 contains decimal value 440
The content stored at location 440 is 502 Where

is the corresponding operand located for :

() immediate addressing;

() direct addressing

(i) Indirect addressing

(iv) register addressing

() relative addressing - 5

What are the charactenstics of RISC and CISC
processors ? Is RISC better than a CISC

processor ? justify your answer. 4
Describe and compare traditional and high
performance bus architectures with the help of ‘
diagrams. 6

PT.O.



6181

{e)

{a)

®)

(c)

(a)

®)

( 4 ) 6181

Explain the torm ‘cycle stealing’ with respect to
DMA. 2

? Nm m pax BIOta)

What is the range of this parsmeter ? 8

A set associative cache consists of 64 line, or slots,
divided into four-line sets. Main memory containa
4K blocks of 128 words each. Show the format
of main memory address. ]

For an instruction cycle, draw » six-segment pipeline
and its space-time diagram. Assume that the 3™
instruction is a branch instruction. 4

Explain Direct Memory Access and give block
diagram of DMA controller. How does CPU
initialize the DMA tranafer ? ¢

Compute (+30};5 x (-13),o using Booth’s
Algorithm, ]



